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BRHE = 1
EERTT =R 1
#EHIT = 1
#EHI T m3 553.6 550
CB210100 HEHI m3 553.6 554 T8 A—Tohvt
BRERELT = 1
[BREREE T m3 73.2 70
| CB210520 BREE® T m3 732 73 HEIMEE 2.5mEi
HLAET =t 1
ith ErZAnMTONE m3 624.7 620
CB210610 ifh m3 624.7 625 HIZANMTONE
TREIEN & m3 624.7 620
CB210110 THEERR m3 624.7 625 124 0\ yhiky 1L FE0.8m3(FF50.6m3), L 7Y DID X RS £&,7.5km L T
HkEEMT = 1
LT = 1
RiEY T m3 264.0 260
CB210030 RiEY m3 264.0 264 18 FIHEIEImIUE2mEH
EHRL m3 100.4 100
CB210410 BRL m3 100.4 100 BAEREImES
BET = 1
7 UErAPUREIE US3-B400A m 10.0 10
URIEIE m 10.0 10.0 US3-B400A
7 UEvAPURLEIE US3-B300A m 10.0 10
UEIEIE m 10.0 10.0 US3-B300A
BB AEAE H- R EEBTS0ARIERN AN AEY) m 733 73
BB AERE m 6.0 6.0 FLAHI-750-1000
B OE A m 4.0 40 EAH.750-1100
BB AERE m 4.0 40 FL AR -750-1200
B OE A m 6.0 6.0 F A #I-750-1300
BB AERE m 473 473 FLAHI-750-1400
BHOERE m 6.0 6.0 1E 7K %1 - 750-1400
flEE US3-B400f ® 19 19
B ® 18 18 a9Y—h35 (US3-B400A)
Ehit " 1 1 JL—-F5'% (US3-B400A)
fliEE US3-B300/ " 19 19
=R 4 18 18 av%—+2 (US3-B300AH)
=i ® 1 1 7' V—F2%9"% (US3-B300FH)
BlEE SH - REEBTS0AEIERN 1V AEY) " 62 62
=hi " 52 52 B750/ EA{IiEACoZE(L=0.5m/)
=hit " 7 7 B750F 1%E O MAGrE(L=1.0m/#A)
=hi >4 3 3 B750/ Lb/K{EIiEFAGrE(L=1.0m/ff)
EKHE SH- B EBTSOARIERN AN AR § 73 73
[@K#E 1 73 73 - REEBTS0AEIERN 1N AE)
1E 7K AR SH - REEBTS0AEIERN 1V AEY) E 3 3
1ETKAR(RYY) -y — K EY) 4 3 3 H=1400mm fBI&BA 4N A E
BEDMRET = 1
BEYRELT = 1
W) -MEEYEIEL EHEEY m3 35.3 35
BEMLYIhHL m3 35.3 353 EHIBIEY
W) -MEEWEIEL BHEEY m3 144.1 144
BEMLYIhL m3 144.1 144.1 SBHEEY
BB AsZHEERR. t=3~10cm m 384.0 380
CB430510 SRR T m 384.0 384 T RAI7 IV
EHLE RIS R AsZHEERR. t=3~10cm m2 966.4 970
CB430310 SRR m2 966.4 966 TA77 I hEHEERR
ERE YA AsEhZEhR . IHIEt=2~4cm m2 | 1,865.8 1,870
CB430010 EXEUIHI m2 | 18658 1,866 £ EAI6cmEL T (4000m2LL )
EifRIET = 1
|FRE R EHCoRR m3 353 35
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CB227010 B m3 35.3 35.3 V) -MEERR)HEEY) DIDXEIE 5.7kmLL T
OB A Conk m3 144.1 144
CB227010 S m3 144.1 144.1 VYY) —MELER)HEE Y DIDX & 5.7kmLL T
OB As#R m3 55.3 55
CB227010 B m3 55.3 55.3 SRR R E R EZ 15cmiB) X (L% E DIDX % 6.0kmLL T
BB E LA AstlHI# m3 62.3 62
CB430020 S (BRE LA m3 62.3 62.3 #EL 55kmLLT
BmAs M Cork m3 35.3 35
noE t 83.0 83.0 #E AR Conk
BmAs S AHCork m3 144.1 144
noE t 360.3 360.3 %R Conk
BmAs AsiR m3 55.3 55
noE t 130.0 130.0 As3g
A AstEI#F m3 62.3 62
noE t 146.4 146.4 Astl %
EE = 1
BET = 1
TRAI7MMGEET EHEL KESRER = 1
BRI (EE- B BERR(RC-40), t=68cm m2 335.3 335
CB410031 | T BRRAE (HEER) m2 335.3 335.3 BARARC-40) t=54cm (3EBHET)
CB410031 | TERRE B m2 335.3 335.3 BERARC-40) t=14cm(1BHETL)
TrERAREEE - BRE AR BEHBA(RC-40). t=48cm m2 335.3 335
CB410031 TRk (S8 ER) m2 335.3 335.3 BERARC-40). t=48cm
LB AR (R E - B TR AR) HiZE#EA(M-40). t=12cm m2 427.0 427
CB410041 L EERAR (aEER) m2 427.0 427.0 IR A (M-40), t=12cm
HEEEE - BE) DB £ HEAs(20), t=5¢cm m2 759.2 759
CB410240 EEEE- BB m2 107.5 107.5 1.4mK i
CB410240 HE(EE- BB m2 426 426 1.4mELE3.0mEL T
CB410240 EEEE- BB m2 609.1 609.1 3.0mitB
=REEE-EEH O HIEAs(20F) R E I &, t=5cm m2 | 1,904.6 1,900
CB410260 =EEE- BB m2 | 1,904.6 1,905 3.0mitB
TAITWMAET HiEH RALTHERBR~ENREAR = 1
BRI (EE- B BERRRC-40), t=61cm m2 250.0 250
CB410031 | T BRRAE (HEER) m2 250.0 250.0 BARARC-40) t=47cm(3BHET)
CB410031 | TRERRE (B m2 250.0 250.0 BERARC-40) t=14cm(1BHETL)
TIERAREEE - BRE AR BEPARC-40). t=40cm m2 250.0 250
CB410031 TRk (aEER) m2 250.0 250.0 BAERARC-40). t=40cm
LB AR (EEE - B TR AR) HiZE#EA(M-40). t=12cm m2 4255 426
CB410041 L EERAR (aEER) m2 4255 4255 IR A (M-40), t=12cm
=EEE - BE) QB EZEHEAS(13), t=4cm m2 9426 943
CB410260 =EEE- BB m2 65.5 65.5 1.4mK i
CB410260 =E(EE - BB m2 132.7 132.7 1.4mELE3.0mEL T
CB410260 =EEE- BB m2 744.4 744.4 3.0mitB
=RIE(EE- BB OB A FE R EAs(13F), t=3cm m2 | 1,230.7 1,230
CB410260 |R[E(FEE - BRE ) m2 [ 1,230.7 1,231 3.0mitB
FRIFMEGRET $EE \ = 1
L HNIECHE AR BERA(RC-40). t=15cm m2 393.3 393
CB410031 TREERAR (a8 ER) m2 393.3 393.3 BARR(RC-40). t=15¢m
L RERAGERR) YA A (C-20). t=10cm m2 393.3 393
CB410041 L FEERAR (a8 ER) m2 393.3 393.3 Y)3A A (C-20). t=10cm
EIECEED) @B MK EAs(13F), t=3cm m2 614.7 615
CB410261 =KEGER) m2 4151 4151 1.4mK i
CB410261 =ECHER) m2 199.6 199.6 1.4mELE
TAITVMARET mESisE KERER = 1
REEEE - BRFAD) QB EFHEAs(13). t=4cm m2 16.1 16
CB410260 |RE(EE- IRE ) m2 16.1 16.1 1.4mEL E30mELT
REEEE - BRFAD) OB £ FHEAs(13F). t=3cm m2 16.1 16
CB410260 |REB(EE- IR ) m2 16.1 16.1 1.4mEL E30mELT
TRIPMRET RAL. 1BHE \ = 1
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TRERECGERR BERR(RC-40). t=30cm m2 56.7 57
CB410031 | FTERE (SE) m2 56.7 56.7 BAFHARC-40). t=30cm
EECHER) DOF £ M EAS(20). t=10cm m2 56.7 57
CB410241 |EBCHER) m2 56.7 56.7 1.4mKi# t=50mm (1 BHEL)
CB410241 (EE(HER) m2 56.7 56.7 1.4mkKE t=50mm (1 BHETL)
=BG E) @B LML As(13F), t=5¢m m2 65.7 66
CB410261 | REGEE) m2 65.7 65.7 1.4mEK
FRIFMEGET AL, JEHE \ = 1
TR ERR BERA(RC-40). t=25cm m2 86.4 86
CB410031 | FTERE (SE) m2 86.4 86.4 BAFHARC-40). t=25cm
TR ERR) BERA(RC-40). t=18cm m2 6.0 6
CB410031 | FTERE (SE) m2 6.0 6.0 BAEFRARC-40). t=18cm
TR ERR) BERARC-40). t=15¢cm m2 13.0 13
CB410031 | FTERE (SE) m2 130 13.0 BAEFHARC-40). t=15cm
EIECEED) @B MK E As(13F), t=5cm m2 140.0 140
CB410261 RECERR) m2 140.0 140.0 1.4mK i
HKBEMT = 1
BET = 1
LEVEE (FAEH) LS3-F-T220 m 302.9 303
CB422510 SEERRIOVY m 302.9 302.9 ME S EE 557 0y CHE (18/24 X 30 X 200cm)
CB240010 avy)—k m3 454 454 BIF£EI,2)18-8-40 W/C=60% 302.9%0.15
CB240210 B m2 121.2 121.2 — iR ¥Lavy) -+ 302.9%0.4
CB221110 EHRA m2 272.6 272.6 BAERARC-40) t=10cm 302.9%0.9
CB224710 B ik m2 6.1 6.1 BEEEB#R t=10cm 302.9%0.02
LEVEE (FREH) LS3-F-T190 m 245.6 246
CB422510 SEERRIOYVY m 2456 245.6 ME S EE 557 0y CHE (18/24 X 30 X 200cm)
CB240010 avy)—k m3 295 295 BIF£EI/2)18-8-40 W/C=60% 245.6%0.12
CB240210 B m2 98.2 98.2 — iR ¥Lavy) -t 245.6%0.4
CB221110 EHRA m2 221.0 221.0 BERARC-40) t=10cm 245.6%0.9
CB224710 B ik m2 25 25 EEEB#R t=10cm 245.6%0.01
£k#-vvk-LT = 1
7L ARSIk BREHEK# 400 x 400 &FT 29 29
CB222800 TLEx v ARE KM = 29 29 AT
CB222810 TLF v ANEKH (41 E) E-3 29 29
CB422510 SEERERIOVY m 17.4 17.4 EXE B#E(180/205 x 250 X 600)
CB222770 BEHKE m 45.6 456 B VP-150
ZET = 1
INEUZET = 1
12 ERizE = 3 3
T AT - E R E (BR4AI=C) E-3 3 3 HEX(ERELD) ¢60.5(BIFX4E)
2R ERizE " 3 3
R R R E(E A RS- R IR E SRS & 3 3 585 X 585mm (A=0.34m2)
AREHT = !
T A AR = 2 2
THEMLE (AEFR RN m3 6.0 6.0 FHERER H1ELY 40m3KkH
Foh—RIL R E kg 96.8 96.8 W=48.4kg X 2
FEEET B H 2 2
TS (- PIRR) E-3 2 2 At 400kgkid/ &
ZEHEE () # 2 2 At 400kg R/ &
RE#RT = 1
RE#HRT = 1
AR XER W=15cm m 1,111.0 1,110
R B E m 129.2 129 B - FE B 15em(EEEREK)
X E#RE%E m 651.6 652 BEA- FB) E2H15emGHMAIR)
R B E m 312.9 313 AR F B ER15emERH)
X E#REE m 173 17 BE - FB R 15em(EITETR)
AR ER W=45cm m 325.9 330
X E#RE%E m 174.1 174 BRI - T8 RiR45cm(tEMT S E)
R EfREEE m 24.0 24 B - F 8 ER45cm(FLLER)
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THERS| THE | A it ik wthts T IRAT R IRE T IR ]
R EfREEE m 119.1 119 B - FE) t'7545em(EFRE)
X E#REE m 8.7 9 BE - T8 RiR45em(EITER)
AR XER KEN m 90.0 90
X E#REE m 90.0 90 R T3 R 15emIRE (KED)
NP EE#R W=15¢cm m 123.8 120
X E#RE%E m 114.9 115 AAUPEFI R ER15cm(F R ER)
R EfREEE m 8.9 9 AAUPEIBFIE BEER15em(th RER)
B EEE T = 1
BRAEMI = 1
RIRFER A -R =LA HER) N 26 26
RIRFBAZHE (R/—R—LHRE) PN 26 26 AR -IVFEAEGEAR) mm kst
BRI BAZ %, EEX@EF) S 29 29
EREYMET (ERDBE) FN 29 29 #E. BER@EAFR)
ERAEYREL (ERSHIERE) N 29 29 EE. BEEXEEFR)
AT = 1
FRBAAE AR ¢ 500 x H1700mm = 2 2
BRANINEINERE # 2 2 @500 X H1700mm
CB240010 avy)-+ m3 0.6 0.6 BEIF%EI152)18-8-40 W/C=60% 0.3m3/E*2
EHRA m2 0.4 0.4 BERARC-40) t=10cm 0.2m3/F*2
i T [E:l3i8 2 2 D&
BREAE R ERE TN~ —L. H=10.0m = 2 2
B R ERBA T4 = 2 2 EHET-N"—K =)k, H=10.0m
BREARR B ER A =) 2 2 LED
5lRA799N U & 2 2 3.5B
4—3FIEry7 & 2 2 28mm
B &) RimaR AT & 2 2 EF = 200V 10A
Yadubazyk & 2 2 2P15A TFAPRAyFfT
2E-7b m 16.0 16.0 600V CV3.5mm-2C  8.0m/Etx2
HRERT-7 m 16.0 16.0 600V VVF2.0mm-3C  8.0m/#*2
#ET-TW X 2 2 FHMA10m
REAAERE) = 1 1
B R ERBAT I E-3 1 1 BREX FRBALT
CB010410 BISHE BRI RIER t 0.2 0.2
CB010420 RigHERRUZIERIEAH - FEIL t 02 0.2
29397 t 0.2 0.2 Hl X2 TOHBREOIRS
REET = 1
T8 R T = 1
REEER T B T(KEMR) H=1.8~2.1m m 733 73
AERI@EAES) m 24.4 24.4 H=1.8m
AERI(@EAIS) m 489 489 H=2.1m
AEZHRT m 733 733 1B {BAIRE2.0mE
REBEEEL = 1
RBFEERE AH 194 194
REFEERBA A 97 97
RBASEREB A 97 97
HiE R = 1
HiB R = 1
EifE = 1
EHREERE & 2 2 F=ES
EMBEBEICLLEMRIEIRE) =) 2 2 PRSI (R -V - EEMFEIA L E £)2.0m




